DIVISION AND MULTIPLYING BY 10s (H - SET 2)
DIVISION BY 1000

Name:

Time:

Score:

w0 83000 <+ 1000 =

727000 = 1000 =

45645000 + 1000 =

581000 + 1000 =

w5 733000 < 1000 =

16943000 <+ 1000 =

un- 702000 =+ 1000 =

w5 917000 = 1000 =

19779000 <+ 1000 =

50619000 = 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 2
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653000 = 1000 =

539000 = 1000 =

31000 =+ 1000 =

213000 = 1000 =

» 538000 + 1000 =

116000 = 1000 =

440000 + 1000 =

178000 - 1000 =

411000 + 1000 =

182000 = 1000 =


https://www.workulum.com

